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QUESTION 1

Which one of the following test tools would you recommend for the E2E phase.

A. A configuration management tool to ensure that all user-stories have been properly archived.
B. A test design tool to create the test cases as efficiently as possible.

C. A performance test tool to check that anticipated loading can be handled.

D. A modelling tool to verify the stock exchange pricing structures.

Correct Answer: C

QUESTION 2
Which of the following provides the best example of a product risk leading to a project risk?

A. The signalling systems may have more defects than anticipated, leading to the need for more retesting to be carried
out.

B. There may be unexpected lags on the network traffic communication, causing drivers to slow the trains down
unnecessarily.

C. The new development staff may require training for this type of system, which, if not carried out, may lead to an
increase in the number of defects introduced.

D. The budget may need to be increased significantly during the project, otherwise there may be delays in the delivery
of the system.

Correct Answer: A

QUESTION 3

Which of the following best describes a testing challenge of the application domain of the routers described?
A. Testing that the receivers PC can store emails routed to it.

B. Testing that large organisations can scan incoming files routed to them for viruses.

C. Testing that packets are delivered by the routers in the required timescales.

D. Testing that files can be sent in any language.

Correct Answer: C

QUESTION 4

Which stage of the Fundamental Test Process will be most affected by the use of user-stories as defined above?
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A. Creating a schedule of activities as part of test planning.

B. Creating test cases as part of test design.

C. Creating the test environment as part of test execution.

D. Assessing requirements coverage at the end of each Sprint.

Correct Answer: B

QUESTION 5

Which of the following would be applicable as part of a test policy for testing these types of systems?
a.

Systems must be tested for compliance to industry standard routing protocols.

b.

Testing for the latest upgrade will require testing of increased network traffic of 100%.
C.

Testing for the fix will require the use of dynamic analysis tools.

d.

Releases will not be made if systems have any high priority defects outstanding.

A

aand b.
aand d.

b and c.
D.
b and d.

Correct Answer: B
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